Chapter 8 – Questions


Chapter 8 Revenue Recognition

(I)
Multiple Choice Questions

1.
According to the recognition criteria established for revenue, revenue is normally recognised

A
during production.

B
at the completion of production.

C
when cash is received from the customer.

D
at the point of sale.



(Adapted HKAAT Paper 7 Advanced Accounting Pilot Paper 2001)

2.
A sale should not be recognized as revenue by the seller at the time of sale if:
A
payment was made by cheque
B
the selling price is less than the normal selling price
C
the buyer has a right to return the product and the amount of future returns cannot be reasonably estimated

D
none of the above
3.
Olympic Fitness Centre opened for business on September 1, 2008. For revenue recognition purposes, all memberships are assumed to be issued at the beginning of the month, with one-year memberships costing $150 and two-year memberships costing $200. During September, 48 one-year memberships and 18 two-year memberships were sold. Which of the following statements is correct?
A
Revenue to be recognized as earned for the month of September would be $10,800.

B
Deferred revenue at September 30 would be $9,900.

C
Revenue to be recognized as earned for the month of September would be $9,900.

D
Deferred revenue at September 30 would be $10,050.

4.
Mouse Computer Store appropriately uses the instalment method of accounting. The following data are available for 2008:
	Instalment sales
	$250,000

	Cost of sales
	$150,000

	Cash collections
	$100,000


The gross profit on instalment sales realized in and deferred at the end of 2008 should be:

	
	Realized
	Deferred

	A
	$20,000
	$80,000

	B
	$30,000
	$70,000

	C
	$40,000
	$60,000

	D
	$60,000
	$40,000


5.
Which of the following is an incorrect statement about when revenue from a transaction should be recognized, according to HKAS 18?

	
	Transaction
	When to recognize the revenue

	A
	Consignment sale, when the buyer undertakes to sell the goods on behalf of the seller
	When the goods are sold by the recipient to a third party

	B
	Sale to a distributor or dealer
	When the risks and rewards of ownership pass from the seller to the distributor or dealer

	C
	An order when payment is received in advance for goods that will be manufactured to the customer’s specification
	When the order is placed

	D
	Annual subscription payment for monthly magazines
	On a straight-line basis over the period when the magazines are despatched


6.
On 31 March 2007, DT received an order from a new customer, XX, for products with a sales value of $900,000. XX enclosed a deposit with the order of $90,000.
On 31 March 2007, DT had not completed credit referencing of XX and had not despatched any goods. DT is considering the following possible entries for this transaction in its financial statements for the year ended 31 March 2007:
(i)
include $900,000 in income statement revenue for the year;

(ii)
include $90,000 in income statement revenue for the year;

(iii)
do not include anything in income statement revenue for the year;

(iv)
create a trade receivable for $810,000;

(v)
create a trade payable for $90,000.
According to HKAS 18 Revenue Recognition, how should DT record this transaction in its financial statements for the year ended 31 March 2007?
A
(i) and (iv)

B
(ii) and (v)

C
(iii) and (iv)

D
(iii) and (v)


(CIMA P7 Financial Accounting and Tax Principles May 2007)

(II)
Examination Style Questions
1.
An account clerk of Fasino Ltd has difficulties in the recognition of revenue

Interest Income

On 1 January 1998 a bond with 5% coupon and a par value of $1,000,000 was purchased at a price of $900,000. Interest will be paid by the issuer on 31 December each year. The bond will mature on 31 December 1999 and $1,000,000 will be received from the bond issuer.

Royalty income

A royalty agreement has been entered into with Icemaking Ltd granting permission to Icemaking Ltd to utilize the patent of Fasino to produce ice-bars. Royalty of $1 will be received by Fasino Ltd on every ice-bar produced and a minimum rent of $100,000 per annum is agreed by Icemaking Ltd. Icemaking Ltd has produced 110,000 units of ice-bar in 1998 and plans to produce 90,000 units of ice-barin 1999.

Sales of goods

Product “V” has been sold to Soho Department Stores for $90,000 on consignment on 31 December 1998. All the consignment stocks were sold on 31 January 1999.

Product “W” has been sold through the Taiwan branch of Fasino Ltd for $80,000 on 31 December 1998. The sales proceeds were collected by the Taiwan branch and Fasino Ltd was pending permission from the Taiwan government to remit the sales proceeds. Ultimately the Taiwan government granted permission to remit the consideration on 30 June 1999.

Product “X” has been exchanged for a dissimilar good – Product “XX” on 31 December 1998. Based on the price list the quantity of Product “X” exchanged could be priced for $74,000, whereas the fair value of Product “XX” was $75,000. All of Product “XX” were ultimately sold at $80,000 on 30 June 1999.

Product “Y” was shipped to customers on 30 December 1998 for $60,000 and is subject to installation. The installation is a significant part of the contract which is completed on 31 January 1999.

Product “Z” was sold on retail for $50,000 on 31 December 1998. The sales are subject to a refund clause such that Fasino Ltd will make a refund to the customers if they are not satisfied with the product. From past experience, Fasino Ltd estimates that only 0.1% of the sales are refunded.

Required:
Calculate the revenue to be recognized by Fasino Ltd for the years ended 31 December 1998 and 31 December 1999 on each source of revenue.
(25 marks)


(Adapted HKAAT Paper 7 Financial Accounting II December 1998)

2.
(a)
Accountants have developed guidelines for recognizing revenue by different criteria. For merchandising companies, revenue is often recognized at the point of sale. For service, non-merchandising and some other companies, revenue is often recognized as the profit generating activity takes place.

Required:
(i)
Explain why revenue is often recognized at the time of sale for merchandising companies, and list four advantages of this.
(4 marks)

(ii)
Explain why it is appropriate to recognize revenue as the profit generating activity takes place for service, non-merchandising, and some other companies.
(4 marks)

(b)
In accordance with HKAS 18 “Revenue”,

(i)
define “revenue”, and
(2 marks)

(ii)
explain how revenue should be measured when goods are sold in exchange for dissimilar goods.
(3 marks)

(c)
In accordance with HKAS 18 “Revenue”, discuss when and how revenue should be recognized in the following transactions.

(i)
Best Advice Ltd is a consulting firm that has received a two-year engagement from a client. The company will assign differing numbers of personnel to the project depending on the project’s needs and the availability of personnel. The company makes periodic billings based on the hours worked by the personnel, plus 20% profit.
(4 marks)

(ii)
The Far Lost Health Club has two types of memberships: one-year and two-year. Each type of membership requires an initial fee as well as monthly fees for unlimited use of the club’s facilities.
(4 marks)

(iii)
Francisco Ltd owns 80% and 20% of the equity shareholdings in Fed Ltd and Ted Ltd respectively. All three companies are unlisted and their accounting year ends 31 December. On 1 April 2001 and 15 April 2001, final dividends in respect of the year ended 31 December 2000 were declared and approved at the general meetings of Fed Ltd and Ted Ltd respectively.
(4 marks)



(Total 25 marks)



(Adapted HKAAT Paper 7 Financial Accounting II December 2001 Q6)

3.
HKAS 18 “Revenue” requires revenue to be recognised when it is probable that future economic benefits will flow to the enterprise and these benefits can be measured reliably. You are the accountant of AT Limited. Your junior asks you to explain the accounting treatments, according to the requirements of HKAS 18, of the following two transactions:

(i)
On 1 January 2004, AT Limited sold a machine for $600,000 on installment sales. Proceeds are received in 3 equal installments, payable in advance. The market interest rate at time of the sale was 12% per annum.

(ii)
AT Limited owns the right to a retail shop franchise. On 1 January 2004 it sold the right to open a new outlet to Mr Lee; the franchise is for three years. AT Limited received an initial fee of $210,000 on 1 January 2004. An instalment payment of $25,000 per annum is receivable in advance for a period of three years starting from 1 January 2004. AT Limited has to provide continuing services – including marketing, product sourcing and market research – to Mr Lee in accordance with the franchise agreement.

Required:
(a)
In accordance with HKAS 18 “Revenue”, explain when and how to recognize revenue from the following categories:

(i)
rendering of services; and
(6 marks)

(ii)
sale of goods.
(6 marks)

(b)
Prepare journal entries to record the installment sales transactions from 2004 to 2006. (Show your workings).

	Present value interest factor of $1 at 12% for n periods

	Period (n)
	Discount factor at 12%

	1
	0.893

	2
	0.797

	3
	0.712




(7 marks)

(c)
Prepare journal entries to record the revenue earned from the franchise in 2004 and 2005.



(6 marks)



(Total 25 marks)



(Adapted HKAAT Paper 7 Advanced Accounting June 2004 Q.C1)

4.
Bestwork Limited, which is an entertainment programme producer and distributor, has the following transactions occurred during the year ended 30 September 2005:

(1)
Bestwork Limited entered into a franchise agreement with Line Limited and sold the right of a franchise to Line Limited for a period of 4 years on 1 October 2004. Bestwork Limited received an initial fee of $160,000 on 1 October 2004 and $50,000 per year thereafter for a period of 4 years. Bestwork Limited provides continuing supporting services, including an advertising and sales campaign, product sourcing and market research to Line Limited in accordance with the terms of agreement.

(2)
Bestwork Limited entered into a non-cancellable agreement with a file distributor on 1 June 2005. The agreement involved the granting of rights to exhibit a motion picture film in markets; however, Bestwork Limited had no control over the distributor and expected to receive no further revenue from the box office receipts. In return, Bestwork Limited would receive a lump sum of $500,000 under his agreement.

(3)
On 1 February 2005, Bestwork Limited received total subscriptions in advance of $252,000. The subscriptions were for 36 monthly publications of an entertainment magazine issued by Bestwork Limited starting from 1 April 2005.

Required:

(a)
In accordance with HKAS 18 “Revenue”, provide a definition of revenue and explain how revenue shall be measured under the following circumstances:

(i)
where there is an agreement between the entity and the buyer of the asset; and

(ii)
when goods or services are exchanged or swapped for goods and services which are of dissimilar nature and value.
(6 marks)

(b)
In accordance with HKAS 18 “Revenue”, explain when revenue shall be recognized in the case of:

(i)
revenue from sale of goods; and
(5 marks)

(ii)
revenue arising from the use by other of entity assets yielding interest, royalties and dividends.
(2 marks)

(c)
Calculate the amount of revenues for transactions (1), (2) and (3) to be recognized for the year ended 30 September 2005. Justify your answer. (Note that each transaction carries equal marks)
(12 marks)



(Total 25 marks)



(HKIAAT Paper 7 Advanced Accounting June 2006 Q.C1)

5.
Vkeir Limited sells furniture and fixtures from several retail outlets. In previous years, the company has undertaken responsibility for fitting the furniture and fixtures in customers’ premises. Customers pay for the furniture and fixtures at the time they are ordered. The average length of time from customer ordering furniture and fixtures to its fitting is 10 days. 80% of the sales invoice value relates to the goods and 20% of the fitting services for the furniture and fixtures.

In previous years, Vkeir Limited had recognized sales revenue only when the furniture and fixtures had been successfully fitted as the rectification costs of any fitting error would be difficult to estimate. One of the directors of Vkeir Limited, Mr. Wan, is proposing to recognize sales revenue when customers order and pay for the goods, rather than when they have been fitted.

Required:

(a)
Explain how should revenue associated with the rendering of services transaction be recognized in accordance with HKAS 18 “Revenue”?
(6 marks)

(b)
Do you think that: (i) the existing accounting policy, (ii) the accounting policy proposed by Mr. Wan, or (iii) both of them for recognizing revenue is/are NOT correct? (You should ignore the information given in part (c) when answering this part)
(10 marks)

(c)
From the next accounting year onward, Vkeir Limited is going to change its trading practice by outsourcing the fitting of furniture and fixtures at customers’ premises to approved contractors because the cost involved in such fitting services will be less than maintaining a service team in the company for this purpose. Vkeir Limited will pay a fixed account to the contractors for each job and the contractors will be responsible for the fitting of furniture and fixtures and also paying compensation for any errors in the fitting. How to recognize and measure sales revenue in the next accounting year?
(9 marks)

(Your answer should be in line with the requirements of “Framework for the Preparation and Presentation of Financial Statements” and HKAS 18 “Revenue”.)


(Total 25 marks)


(Adapted HKAAT Paper 7 Advanced Accounting June 2007 Q.C3)

6.
Fit Limited, which is engaged in manufacturing and selling of office equipments, has an accounting year-end of 31 December. On 1 January 2007, Fit Limited sold goods to a customer in four equal instalments of $150,000, payable in advance. The market borrowing rate, at time of the sale, was 15% per annum.
Required:

(a)
In accordance with HKAS 18 Revenue, explain when and how to recognise the revenue from sale of goods.
(7 marks)
(b)
HKAS 18 states that “if the entity retains significant risks of ownership, the transaction is not a sale and revenue is not recognised.” Provide two examples of situations in which the entity may retain significant risks and rewards of ownership in the context of sale of goods.
(2 marks)
(c)
Prepare journal entries to record the transactions of instalment sales from years to 31 December 2007 to 2010. Show all your workings.
(16 marks)
(Your calculation should be rounded up to the nearest dollar.)


(Total 25 marks)



(HKIAAT Paper 7 Financial Accounting Pilot Paper 2008 C2)
7.
HYCyber conducts research and development services for a variety of other companies. In most cases, HKCyber contracts with these companies for specific developmental work on existing products. However, in a few cases HKCyber has also done the basic research to develop new products and then attempted to market any potentially promising product, design or technology.

In January 2001, scientists at HKCyber began working on an alternative fuel for use in automobiles. During 2001, costs of $1,170,000 were incurred on this project. In July 2002, promising results were obtained, and the newly developed fuel was named Powergoop. The costs from January to July 2002 were $630,000.

HYCyber attempted to sell the formula and any legal rights to Powergoop to a large oil company for $10,000,000. The oil company was not convinced it should purchase Pwergoop, and asked for further testing and studies. However, the oil company did pay HKCyber $50,000 in July 2002 for an option to be sole purchaser. This option would expire on 31 December 2003, and was nonrefundable.

The results of further tests were encouraging. The costs of these tests were $810,000 for August to December 2002, and $360,000 in 2003. On 30 December 2003, the oil company exercised its option and agreed to buy the formulas and legal rights to Powergoop for $10,000,000. The oil company made an initial payment of $1,000,000, and the remainder was to be paid in five equal annual installments on 31 December 2004, 2005, 2006, 2007 and 2008. HKCyber delivered all formulas and legal rights documents to the oil company on 31 December 2003.

Required:
When should HKCyber recognize the revenue from its work on Pwergoop? Why? Are all the proceeds from the annual installments revenues from sales? How should HKCyber account for the development cost?
(20 marks)


(Adapted HKAAT PBE Paper I Financial Reporting December 2002 Q5)

8.
This question contains two unrelated parts. Answer Part (a) and Part (b) independently.

(a)
T Limited sold goods to U Limited on 1 January 2004 and reserved an option by agreement to repurchase the goods from U Limited one year later. The repurchase price will be the original selling price of the goods plus interest charged from the date of sale to the date of repurchase.

Required:
(i)
Briefly discuss the conditions under which revenue from the sale of goods should be recognized.
(2.5 marks)

(ii)
Comment on whether T Limited should recognize the revenue from the sale on 1 January 2004 if it is expected that T Limited will repurchase the goods one year later. Give reasons to support your answers.
(3 marks)

(iii)
If the repurchase price is based on the market value as at the date when T Limited exercise the option, should T Limited recognize the revenue on the date of sale? Explain your reasoning.
(3 marks)

(b)
On 1 January 2004, Q Limited sold a machine to W Limited for $600,000 under a financing agreement to be paid by four equal annual instalments. The first instalment is made at the end of 2004. The borrowing rate at the date of the sale was 10%. W Limited has a good credit standing.

Required:
(i)
How should the sale be accounted for by Q Limited?
(3 marks)

(ii)
Calculate both the revenue from selling the machine and the interest revenue that Q Limited should recognize over the whole period of the instalment sale. Round your answers to integers. (The present value of $1 discounted at 10% for 1 year is 0.90909, for 2 years is 0.82644, for 3 years is 0.75131, and for 4 years is 0.68301.)



(6 marks)

(iii)
Assume that W Limited is in a country which exercise very tight foreign exchange control, and there is uncertainty over whether the governmental authority of that country will grant W Limited permission to remit the consideration of the sale to Q Limited. In this case, how should Q Limited account for the sale? Explain your reasoning.
(2.5 marks)



(Total 20 marks)



(HKAAT PBE Paper I Financial Reporting December 2004 Q1)

9.
E-magazine is a new monthly web-based magazine that has been on the market for only eight months. It currently has a subscription of 500 users. Negotiations are underway to obtain a bank loan in order to expand the company’s facilities. After reviewing the financial statements of E-magazine, the bank loan officer has indicated that a loan could be offered to E-magazine only if they could increase their current ratio of one to a specified level. E-magazine has devised a plan to increase the annual subscription for year 2000. The campaign includes these new features:

(a)
An offer to subscribe to E-magazine for one year at a 25% discount starting 1 January 2000.

(b)
An unconditional guarantee that subscribers will receive a full cash refund if cancelled during the first three months and a pro rata refund for the remaining months if cancelled after the first three months.

You are the financial controller of E-magazine.

(a)
Discuss whether E-magazine should recognise the revenue from the new subscriptions.

(b)
What is the impact of the proposed plan on the current ratio on 1 January 2000?



(4 marks)



(HKICPA QP Module A Financial Reporting Pilot Paper 1999)

10.
One of your audit clients, a start-up internet company named Travel.com running a travel agency business on-line, has a disagreement with you on the issue of revenue recognition. When Travel.com sells a $2,000 ticket, they book all $2,000 as revenue and deduct the cost of the ticket as cost of goods sold. The management of Travel.com argues that their practice meets generally accepted accounting principles (GAAP) since the company temporarily holds the plane seat in its inventory, but they do not further explain how plane seats are accounted for as inventory.

Required:

Discuss the incentives for Travel.com wanting to record revenue this way, and whether or not their proposed practice is consistent with GAAP.
(5 marks)



(HKICPA QP Module A Financial Reporting June 2001)

11.
Mary Kwan is the Financial Controller of Communication Magazine (the “Magazine”). The major source of income for the Magazine is advertising income from the advertisements placed and published in the Magazine. Mary Kwan is in the process of finalising the financial statements of the Magazine as of and for the year ended 31 December 2001 and she has noted that Magazine has earned an advertising income of HK$100,000 from Orange Magazine, an unrelated entity. Mary Kwan has reviewed the advertising contract signed with Orange Magazine and noted that Orange Magazine placed advertisements in the Magazine for HK$100,000 and the Magazine in return placed similar advertisements in Orange Magazine for the same amount.

Required:

Advise and provide an explanation to Mary Kwan as to the proper accounting treatment of this transaction.
(10 marks)


(HKICPA QP Module A Financial Reporting March 2002)

12.
You are an accounting manager of Cherry Limited (“Cherry”), a manufacturer of kitchen appliances for both the industrial and consumer sectors. In addition to sales through wholesales, Cherry also operates directly in the retail market through dedicated showrooms. Relevant information and extracts of documents for the forthcoming management meeting to be held on 31 May 2004 are as follows:
Extract of a memo dated 30 April 2004

To
: Sales Director

From
: Assistant Sales Director – Retail

Date
: 30 April 2004

Although we are facing an environment full of uncertainties and many enterprise are experience revenue decline, it is important that we outperform in the kitchen appliances industry. Starting from 1 October 2004, we shall commence offering new credit terms to our customers. This marketing programme shall be referred to as the “No pay 450” programme (NP450). Customers will make no down payment and will be charged no interest if their entire purchase price is paid within 450 days from the date of purchase. If the full amount of the purchase is not paid within that time, they will be required to pay interest at the rate of 12% per annum from the date of purchase.

We expect that the NP450 programme will be very successful. We estimate that sales via the NP450 programme will account for more than half of the annual turnover of our division for the financial year ending 30 June 2005.

We estimate that approximately 40% of NP450 customers will pay within 60 days from the date of goods are delivered (though they are not required to do so). Since the programme is innovative, it is not known how many customers will opt to pay after 450-day credit-free period, but we estimate that it will not exceed 10%.
Required:
(a)
State the revenue recognition criteria for the sale of goods.
(5 marks)
(b)
Explain how sales under the NP450 programme should be accounted for in Cherry’s financial statements.
(10 marks)
(c)
State whether Cherry should recognize the expected interest charges for customers who opt to pay after 450 day credit-free period.
(5 marks)


(Total 20 marks)



(Adapted HKICPA QP Module A Financial Reporting June 2003)
13.
(a)
Explain the conditions that need to be satisfied before revenue can be recognized from the sale of goods. You should support your answer with reference to Hong Kong Accounting Standards as appropriate.
(4 marks)

(b)
Briefly outline the policy on revenue recognition for each of the following:

(i)
advance magazine subscriptions received by a publisher;
(5 marks)

(ii)
the sale of cars on credit terms;
(5 marks)

(iii)
long-term work in progress on a long term construction contract.
(6 marks)



(Total 20 marks)

14.
State the general rule for the recognition of revenue and discuss the exceptions to the rule.

15.
One of your major customers, Mr. Wong, has purchased a large quantity of products from you and has agreed to pay for them by making four equal instalments over a period of 2 years. The products were delivered immediately. In the meantime, you also purchased some goods from Mr. Wong on three months credit.

(a)
State the revenue recognition criteria for this particular sale.
(5 marks)

(b)
Why is it important to have revenue recognition criteria?
(5 marks)

(c)
What is the difference between revenue and gains?
(3 marks)

(d)
Can you set off the accounts with Mr. Wong and present a net figure in the financial statement? State your reasons.
(7 marks)



(Total 20 marks)



(Adapted HKICS HK Financial Accounting May 2002 Q3)

16.
The timing of revenue (income) recognition has long been an area of debate and inconsistency in accounting. Industry practice in relation to revenue recognition varies widely, the following are examples of different points in the operating cycle of businesses that revenue and profit can be recognised:

– on the acquisition of goods;

– during the manufacture or production of goods;

– on delivery/acceptance of goods;

– when certain conditions have been satisfied after the goods have been delivered;

– receipt of payment for credit sales;

– on the expiry of a guarantee or warranty.

In the past the ‘critical event’ approach has been used to determine the timing of revenue recognition. The HKICPA in its ‘Framework for the Preparation and Presentation of Financial Statements (Framework)’ has defined the ‘elements’ of financial statements, and it uses these to determine when a gain or loss occurs.

Required:

(a)
Explain what is meant by the critical event in relation to revenue recognition and discuss the criteria used in the Framework for determining when a gain or loss arises.
(5 marks)

(b)
For each of the stages of the operating cycle identified above, explain why it may be an appropriate point to recognise revenue and, where possible, give a practical example of an industry where it occurs.
(12 marks)

(c)
Jenson has entered into the following transactions/agreements in the year to 31 March 2000:

(i)
Goods, which had cost of $20,000, were sold to Wholesaler for $35,000 on 1 June 1999. Jenson has an option to repurchase the goods from Wholesaler at any time within the next two years. The repurchase price will be $35,000 plus interest charged at 12% per annum from the date of sale to the date of repurchase. It is expected that Jenson will repurchase the goods.

(ii)
Jenson owns the rights to a fast food franchise. On 1 April 1999 it sold the right to open a new outlet to Mr Cody. The franchise is for five years. Jenson received an initial fee of $50,000 for the first year and will receive $5,000 per annum thereafter. Jenson has continuing service obligations on its franchise for advertising and product development that amount to approximately $8,000 per annum per franchised outlet. A reasonable profit margin on the provision of the continuing services is deemed to be 20% of revenues received.

(iii)
On 1 September 1999 Jenson received total subscriptions in advance of $240,000. The subscriptions are for 24 monthly publications of a magazine produced by Jenson. At the year end Jenson had produced and despatched six of the 24 publications. The total cost of producing the magazine is estimated at $192,000 with each publication costing a broadly similar amount.

Required:
Describe how Jenson should treat each of the above examples in its financial statements in the year to 31 March 2000.
(8 marks)


(Total 25 marks)


(Adapted ACCA Paper 2.5INT Pilot Paper 2001)
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